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struct name_grade {
char name[8];

int grade;
¥
- struct
- name_grade
- name, grade
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struct name_grade {
char name[8];
int grade;
}s
- O] {12 ORE| S = BI4E Q118 XO| OIL|Bf struct
name_grade %= {1218F Ny
- struct name_gradeE RE%Cl 2= R[E9 AEEZE & NS
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struct name_grade {
char name[8];
int grade;
¥

- struct name_grade %2 377 12 HIOIEY

struct name_grade
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struct name_grade {
char name[8];
int grade;
¥
struct name_grade st gl, st g2;
— struct name_gradell KI[E%°|
st_glil st g2%f= BIgE {110

mj=20oj| o]
= p1o1Eg)

— ZIEEE st_gllf st_g2 2159

=

e e

J=E T,

O
=

= O
st_gl st_g2
.hame char [8] .hame char [8]
.grade int .grade int
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st_glil st g2= 2N B4z B 4K CIE £
O-IL
st g1 = 10; /] L=
Hx 92 PN BHaME=E BTE Ol e

st g1 = st _g2;

st_glil st g2°] BEHi= &' BHeXE CIE & U
—7Z3N| Bi40] BiH|= | QIAMRIE EEYH £ U

- st gl.name : char [8] % B%, char % H{iZE

- st gl.grade - 1INt % =<
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strcpy(st_gl.name, "Cl&{!");
st gl.grade = 98;

st gl
.name “O|p!»
.grade 98
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#include <stdio.h>
#include <string.h>
int main(void){
struct name_grade{
char name[8];
int grade;

}s
struct name_grade st _gl, st g2;

strcpy(st_gl.name, "Ol&24l");

st gl.grade = 98;

strcpy(st_g2.name, st _gl.name);

st g2.grade = st _gl.grade;

printf("%s2 B=xz %8 YLk .\n", st _g2.name, st _g2.grade);
return 0;
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#include <stdio.h>

#include <string.h>

struct name_grade{
char name[8];
int grade;

}s5
int main(void){
struct name_grade st_gl, st _g2;
strcpy(st_gl.name, "°Cl&d");
st gl.grade = 98;
st g2 = st g1,

printf("%sd B+ %™ YL \n", st _g2.name, st_g2.grade);

return 0;
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struct name_grade {
char name[8];
int grade;
} st_g3;
struct name_grade st_g4;
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struct {
char name[8];
int grade;

} st_g5;

struct {
char name[8];
int grade;

} st_g6;

— st_g52% st _g6= FIE %
st g5 =st g6 ; // 2F
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- PN % O|EL HF 7| = typedefE BOI Al

typedef struct name_grade name_grade;
name _grade st g7;

typedef struct {
char name[8];
int grade;
} name_grade;
name grade st g8, st g9;
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struct name_grade st glo = {"==I|", 89};
// 2H &M CE =3 =

// st _gl@.name = "=FI|", st _glo.grade = 89

struct name_grade st gll = {"&F|"};
// grade BEEEO] G2 TYOIEIR| 4
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struct name_grade st gl2 = { .grade = 100 };
// grade EAH{E! 1000 7ZX7|¥I
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—
(struct name_grade) { "Cl&L&!", 98 };
_ ZSH| BH1O] Zi& HITEOIT| $I% 88
st g1 = (struct name grade) { "Cl&{'", 98 };

- = TSR LM BEE N AT U

st gl = (struct name_grade) { .grade = 98,
.name = "O|&LI" };
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struct subject {
char name[8];
struct name_grade studentl;
struct name_grade student2;
struct name _grade student3; math
float ave; .hame char [8]
) . name char [8]
struct subject math; _studentl
.grade Int
math.studentl.grade = 100; .name char [8]
.student2
.grade Int
.hame char [8]
.student3 :
.grade int
.avg float
19 kmh_at_SSU
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struct name_grade{
char name[8];
int grade;

¥

struct subject {
char name[8];
struct name_grade studentl;
struct name_grade student2;
struct name_grade student3;
float avg;

¥

int main(void){

struct subject math = {"=%g", {"stLt", 90}, {"&", 44}, {"M", 76}};

math.avg =
(math.studentl.grade + math.student2.grade +

printf("%s : %d 8\n", math.studentl.name, math.
printf("%s : %d ®\n", math.student2.name, math.
printf("%s : %d ®\n", math.student3.name, math.

math.student3.grade) / 3.0;
studentl.grade);
student2.grade);
student3.grade);

printf("%s B2 %.2f8 YLt . \n", math.name, math.avg);

—

20

kmh_at_SSU



ATEFN JHEXE st C Z=2_]cH

LI : 90 &

44 &

76 &

HA2 70.00&8 & L|C}.

1> ¥ 1 O

o

21 kmh_at_SSU



ATEF 0N HENE st

—Z3N| IIPIE
- PN TRIE

struct name_grade *st gp;
st gp = &st _gi;
st gp.grade = 88; /] 5

strcpy((*st gp).name, "Cf-[");
(*st _gp).grade = 88;

*st _gp.grade = 88; /] L=
// *st _gp.grade == *(st _gp.grade)
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strcpy(st_gp -> name, "SI-I");
st gp -> grade = 88;
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#include <stdio.h>

typedef struct name_grade{
char name[8];
int grade;

} name_grade;

int main(void){
name_grade st, *st p = &st;

st = (name_grade) {"°l=&l", 98};
printf("%s B %d® YL \n",

st p -> name, (*st _p).grade);
return 0;

24
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e 2HF HjI I} 22 HEIOF {01011 ALRE
struct name_grade st a[5];
e FZXN| Hijg2 ZXT|2L
struct name_grade st a[5] =
{{"O-t", 77}, {"&", 87}, {"M", 65},
{"A", 90}, {"FIMR", 98}};
e C99 ZXT¥Y
struct name grade st a[5] = { [1] = {"&", 87} };
struct name_grade st a[5] =
{ [1].grage =87, [1].name = "&" };
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int main(void){
int sum = 0, 1;
float avg = 0.0;
name grade st a[N] = {{"stLt", 77}, {"&", 87},
{"éﬁ": 65}: {"lil": 9@}1 {"EI-&": 98}}3
printf(" °I& H\n");
for (i = 0; 1 < N; i++) {
printf("%-10s %3d\n", st a[i].name, st _a[i].grade);
sum += st _a[i].grade;

}
avg = (float) sum / N;

printf("8 8 BZ2 %.2f YU . \n", avg);
return 0;
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#include <stdio.h>
typedef struct grade{
int grade[3];
char p f[3];
int sum;
float avg;
} grade;

void grade proc(grade st){
st.sum = st.grade[@] + st.grade[l] + st.grade[2];
st.avg = st.sum / 3.0;
st.p f[@] = st.grade[@] < 60 ? 'f' : 'p';
st.p f[1] = st.grade[l1l] < 60 ? 'f' : 'p';
st.p f[2] = st.grade[2] < 60 ? 'f' : 'p';

29 kmh_at_SSU
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int main(void){

grade st = {{9}, {0}, -1, -1.0};

printf("8H YH (I, =, /) "),

scanf ("%d%d%d" ,

grade_proc(st); /] = HY

printf ("=
printf ("4t
printf("atst
printf("& 3
printf("E
return 0;

: %d (%c)\n", st.grade[0], st.p f[0]);
: %d (%c)\n", st.grade[l], st.p f[1]);
: %d (%c)\n", st.grade[2], st.p f[2]);
: %d\n", st.sum);

: %.2f\n", st.avg);

&st.grade[0@], &st.grade[1l], &st.grade[2]);

30
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#include <stdio.h>
typedef struct grade{
int grade[3];
char p f[3];
int sum;
float avg;
} grade;

grade grade proc2(grade st){
st.sum = st.grade[@] + st.grade[l] + st.grade[2];
st.avg = st.sum / 3.0;
st.p f[0] = st.grade[@] < 60 ? 'f' : 'p';
st.p f[1] = st.grade[1l] < 60 ? 'f' : 'p';
st.p_ f[2] = st.grade[2] < 60 ? 'f' : 'p';
return st;

()
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int main(void){
grade st = {{9}, {0}, -1, -1.0};

printf("8& L (JoA, &, Uy : v);
scanf("%d%d%d", &st.grade[@], &st.grade[l], &st.grade[2]);

= grade_proc2(st); // *EHNE FTESL 2|H B E

printf("=° : %d (%c)\n", st.grade[@], st.p f[0]);
printf("&t= : %d (%c)\n", st.grade[1], st.p f[1]);
printf("4s . %d (%c)\n", st.grade[2], st.p f[2]);
printf("F& : %d\n", st.sum);

printf("B & : %.2f\n", st.avg);

return 0;

33 kmh_at_SSU



AODERN HEXE RS

L=

HII
|
Iz

SE Qe (20, A

: 50 (f) ,
: 100 (p)

: 80 (p)

. 230
: 76.67

0% O & 1z |
4 02 J9 4>

34

50 100 860

kmh_at_SSU



TN R

- TN B HHE R}, 2 U HEE R
19, WRO| IRIE PTNE MEOI= R ATNOE
JhcfORatT

- TiEfA CHEREO] §-8 DEIMOAME= 0] SRR T
Mol FAE ALY

35 kmh_at_SSU



ATEFN JHEXE st C Z=2_]cH

T2 9.8
int grade proc3(grade * stp){
if (stp == NULL) {
printf("2F : NULL ZUE\n");
return -1;

}

stp -> sum = stp -> grade[@] + stp -> grade[l] +
stp -> grade[2];

stp -> avg = stp -> sum / 3.0;

stp -> p_f[@] = stp -> grade[@] < 60 ? 'f' : 'p’;
stp -> p_f[1] = stp -> grade[l] < 60 ? 'f' : 'p';
stp -> p_f[2] = stp -> grade[2] < 60 ? 'f' : 'p';
return 0;
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int main(void){
grade st = {{9}, {0}, -1, -1.0};

printf("8& L (JoA, &, Uy : v);
scanf("%d%d%d", &st.grade[@], &st.grade[l], &st.grade[2]);

if (grade_proc3(&st)) // *EA EQIYH MY
return 1;

printf("=° : %d (%c)\n", st.grade[0], st.p f[0]);
printf("&t= : %d (%c)\n", st.grade[1], st.p f[1]);
printf("4s . %d (%c)\n", st.grade[2], st.p f[2]);
printf("F& : %d\n", st.sum);

printf("B& : %.2f\n", st.avg);

return 0;

—
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union short or_ float {

short S;
float f;
¥
- union : FIfIE
- short_or_float
- s, T : 8N =&+

> &8N B OIE

39
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union short or_ float {
short S;
float f;
¥
- short_or_float ¥8Ml G L1212 X
- union short or float 2% (4 H

———————————————————————————————————————————————————————

.S E short
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#include <stdio.h>

typedef union short_or_ float {
short S;
float f;

} number;

int main(void){
number n;

n.s = 2007;

printf("s: %10d f: %16.10e\n", n.s, n.f);
n.f = 2007.0;

printf("s: %10d f: %16.10e\n", n.s, n.f);
return 0;
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- ™
S: 2007 f: 2.8124060179e-42
S: -8192 f: 2.0070000000e+03

. J
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#include <stdio.h>
#tdefine WON ©
#define DOLLAR 1
union won_or_dollar {
int won;
float dollar;

}s
struct product {
char *name;
_Bool w _d;
union won_or _dollar

}s

price;

45
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int main(void){
int 1i;
struct product item[2];
item[@].name = "PMP";
item[@].price.won = 500000;
item[@].w d = WON;
item[1].name = "CAMERA";
item[1].price.dollar = 799.95;
item[1].w d = DOLLAR;
for (i = 0; 1 < 2; i++) {
printf("&% : %-10s", item[i].name);
if (item[i].w_d)
printf("7F&8: $%11.2f\n", item[i].price.dollar);
else
printf("7t&A: %12d ¥ \n", item[i].price.won);

}

return 9;
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ATEF 0N HENE RAst C &

4 I
=% : PMP PN 500000 &
=% : CAMERA A ¢ 799.95

\ J

47 kmh_at_SSU



e 2IE enum2z &% L= ASE

e 22 QUiRIvHS I:I°=ll:lo=l6|-—l 1 KIVIO| RINSEA| Al
RIE MPI0H= LENS MIF

48 kmh_at_SSU



ATEF 0N HENE st

2371%

- 9N
enum day {SUN, MON, TUE, WED, THU, FRI, SAT};
- enum : FE
- day : B OIE
— SUN, MON, ..., SAT : &M~K|

— O] pp12 enum day % 78l
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enum day {SUN, MON, TUE, WED, THU, FRI, SAT};

// SUN - 0, MON : 1, TUE : 2, i
printf(“%d\n”, SUN); // o0 =&

50 kmh_at_SSU



ATEQN HWYXE SIS

=%
- UTRHE CHE BOE AT 4 UL
— R} BRE L&A tE & BEHAIEER 1 B diE e

enum month {Jan=1, Feb, Mar, Apr, May, Jun, Jul,
Aug, Sep, Oct, Nov, Dec};

// Jan : 1, Feb : 2,

enum fruit {apple = 7, pear, orange = 3, lemon};

// apple :7, pear : 8, orange : 3,

enum veg {beet = 17, carrot = 17, corn = 17};
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—
enum day dil, d2;

- MG M T B4 Ao
enum day {SUN, MON, TUE, WED, THU, FRI, SAT} di, d2;
~ B2 OIS MR & U
enum {SUN, MON, TUE, WED, THU, FRI, SAT} dl1, d2;

- UMY PIpE UHN HLQL O] ALGES
dl = SUN;
if (d1 == d2)
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#include <stdio.h>

enum day {SUN, MON, TUE, WED, THU, FRI, SAT};

int main(void){
time_t now;
enum day today;
now = time(NULL); // 19704 18 1¥RE T E MU (X)
today = (now / (60*60*24) + 4) % 7; //1970d 1& 1¥ -> =2
switch (today) {

mO

case SUN:
printf("2E2 L8Y YU . \n");
break;
case MON:
printf("252 d8Y YLt \n");
break;
default:
printf("time() &+ 2FUUICH \n");
}
return 0;
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